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Thirty six vehicles are par‘ff(tjermthe
parking lot in a single row. ite
first car, there is oné scooter. b
Second'car, there aré two Scooh e.
After the third car, there are : ;’e‘e
scooters and so on. Work oud e
number of scooters in the second na

of the row.
(A) 10 (8) 12
(C) 15 (D) 17

In a shop, the items were arranged in
a shelf consisting of six FOWs. lecmt:;
are arranged above the tins O
chocolates but below the rows of
packets of chips, cakes are at the
bottom and the bottles of
peppermints are  below the
chocolates. The topmost row had the
display of jam bottles. Where gxactly
are the bottles of peppermints ?
Mention the place from th% top.

(A) 2" (8) 3%

(c) a™ (D) 5

Choose the correct alternative.
Malaria : Disease : : Spear : ?

(A) Wound (B) Sword
(C) Weapon (D) Death

In the following four words, three are
alike in some manner and the fourth one
is different. Choose out the odd one.

iA) Graﬁes iB) Pineapple

C) Cashew D) Apple

If in a certain language FASHION is
coded as FOIHSAN, how is PROBLEM

coded in that code ?
(A) ROBLEMP (B) PELBORM
(C) PRBOELM (D) RPBOELM

In what ratio should water and wine
be mixed so that after selling the

mixture at the cost price a profit of
33.33% is made ?

™ ma

The average weight of 8 men is
iIncreased by 1.5 kg, when one of the
men who weigh 65 kg is replaced by
a new man. The weight of the new
man is ta
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11.

12.

13.

14.

15.

Three numbers are in theratio3:4:5
and their LCM is 2400. Their HCF is
(A) 40 (B) 80

(C) 120 (D) 200

The difference between a two digit
number and the number obtained by
interchanging the positions of its
digits is 36. What is the difference
between the two digits of that
number ?

(A) 3

(B) 4

(C) 9

(D) None of these

Find the number, when 15 s
subtracted from 7 times the number;
the result is 10 more than twice of

the number.
(A) 5
(€)1 375

(B) 15
(D) 4

Richter scale is used for measuring
(A) Density of liquid

(B) Intensity of earthquakes

(C) Velocity of wind

(D) Humidity of air

A transformer is used to

(A) Increase DC voltage

(B) Increase or decrease AC voltage
(C) Decrease DC voltage

(D) Convert DCinto AC

In a chemically pure state diamonds
are

(A) Monochromatic

(B) Polychromatic

(C) Colourless

(D) None of these

Which type of medicine is given to
patients suffering from diabetes ?

(A) Penicillin

(B) Insulin

(C) Sulpha drugs

(D) None of these

Malaria is a disease which affects the

(A) Heart (B) Lungs
(C) Spleen (D) Kidney
D) AN
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16.

17.

18.

19.

21.

ENGLI

Find the correctly spelt o :ts
(A) coalition (B) cou” r:'sus
(C) colusion (D)R05

Fill in the blanks with appropriate
prepositions : :
A very agile person observed his
reflection a glass qnd
obtained a fairly accurate conception
his appearance.

(B)” on; of

(D) on; off

'J?A) in; of
(C) at; about

Choose the word that best expresses
the meaning of the underlined word :
One must not eat anything with
grubby hands.
(A) unprepared
(C) rough

(B) silly
(D) dirty

Select the substitution that best
expresses opposite meaning of the
underlined word :

The players were in a jubilant mood

after the Cup victory.
(A) regretful (B)” repentant
(C) angry (D) despondent

Choose an alternative which can
replace the given words or sentence
so as to communicate the same
meaning.

A place where money is coined.

(A) bank <8B)_ store
(C) press (D) mint
fe=
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31.

32.

33
Y

34.
s

In Union Government at present who

IS Women and Child Development
Minister ?

(A) Maneka Gandhi
(B) Smriti Irani

(C) Najama Heptulla
(D) None of these

Which one of the following rivers has
the highest replenishable ground-
water resource in the country?

(A) The Narmada

(B) The Ganga

(C) The Brahmaputra

(D) The Godavari

Who wrote Kamayani?

(A) Sumitranandan Pant
(B) Mahadevivarma
,(C) Surya Kant Tripathi

' (D) Ja1 Shankar Prasad
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‘Wh’iﬁf one of the foiloﬁiiﬁg’ began

| ~w:th?fhe‘ﬂ‘andl March?

(A) Home Rule Movememq; A)
( B) Quit l@dga Movement
(G) CMI‘Bisobedlence Mevement;
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QAR, RAS’ SAT' TAU; e’

37.
Fill in the blank.
(A) UAV (B) U:‘TT
(C) TAS (0 T

38. Which word does not belong with

the others ?
(A) Book
(C) Glossary

(B) Index
(D) Chapter

Select the pair that has the same
relationship as the original pair of
words :

Petal : Flower

(A) Salt : Pepper

(B) Tire : Bicycle

(C) Base:Ball

(D) Sandals : Shoes

39.

40. Five girls are sitting in a row. Rashi is

not adjacent to Sulekha or Abha.
Anuradha is not adjacent to Sulekha.
Rashi is adjacent to Monika. Monika
is at the middle in the row. Then,

Anuradha is adjacent to whom out of
the following ?

(A) Rashi

(B) Sulekha
(C) Abha

(D) Monika

In a certain store, the profit is 320%
of the cost. If the cost increases

by 25% but the selling price remains
constant,

41.

approximately  what
percentage of the SEIIiNg Pfice is the .
profit ?
(A) 30% (B) S 18
(C) 100% 0y Zak s e
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